Present Simple/ indefinite

e Routine action, Habit in present time or now

o arg, dg drg intheendof ST sentences

Structure: S+V1/V5+0+C

dg 39 FUA FH HH T &
He works in this company.
S+V1/V5+0+C

dg 3T Yl H HH A BT §.
He doesn’t work in this company.

S +doesn’t/don’t + V1+0 +C

FIAT 98 T HIAT H FHIH AT 8.7
Does he work in this company.
Does/do +S+V1+0+C

FIT 98 39 HUaT F HH AT HLdT §.?
doesn’t he work in this company?
Doesn’t/don’t +S+V1+0+C?

dE 0 FIA FFIT FA T R
Why does he work in this company.?
Why +Does/do +S+V1+0+C

g 39 F9a H FAT AT H1H T §.

Why doesn’t he work in this company.?

Why + Doesn’t /don’t +S+V1+0+C?

In Negative Use Do/Does
In interrogative

I, we, you, they Do/V1

He, she, it, name Does/V5

When you use do/does always use v1




Past Simple/ indefinite

e Routine action, Habit in Past time

. Did +not = didn’t
o aram, d &, dr oY inthe end of 83T sentences

did i ti d
Structure: S+V2+0+C Use did In negative an

interrogative sentence

IE S T H HIH AT AL/ 36A 0 el 7 F1H Always use V1 when you are using
o, Did

He worked in this company.

S+V2+0+C.

g 5H Sl H P AGT Pl AT. / 3T 3T hUAT H PIH oIal hdT.
He didn’t work in this company.

S+didnt + V1+0+C

FIT I8 39 Ul H FH AT AT.? /| FIT 34 39 e & A fhar.?
Did he work in this company ?

Did + S+V1+0+C ?

8 SH ST H FIT dH AT A.? / 39 58 ST H S FIT fhaT.?
Why did he work in this company.?
Why +did 45+V1+0+C

FIT 98 3 HUAT H HHA TG w1 A1? / T 38 57 FHaAl H HIHA gl fhar ?
didn’t he work in this company?

Didn't +S+V1+0+C?

g 30 F9ell H FAT oIl P FIAT AT.? / 3T 3 Uil H FAT oTgl A fhar.?
Why didn’t he work in this company.?
Why +didn’t +S+V1+0+C?



Future Simple/ indefinite
e Routine action, Habit in future time /General Future action

e 3Jm, A 3N, inthe end of TSl sentences

I, WE

Shall +not = shan’t Will +not= won’t

Shall

You, HE, SHE, IT,
Name, They

will

Structure: S+ will/Shall + V1 + other words

JE 39 FUAr H BIH L.
He will work in this company.
S + will/Shall + V1 + other words

JE S FUaAT H PH G P
He will not work in this company.

S + will/Shall + not + V1 + other words.

FIT 9§ 39 HUAT H HH HWEM?
will he work in this company?
will/Shall + S + V1 + other words ?

FIT a8 SH HUT 7 P 6T HL?
will he not work in this company?

will/Shall + S + not + V1 + other words ?

JE 39 FHUAT H DA FIT PEM?
Why will he work in this company?
Why + will/Shall + S + V1 + other words ?

g 39 P9 H HH FATAGT HAM?
Why will he not work in this company?
Why + will/Shall + S + not+ V1 + other words ?




Sentence practice for conversation
Present/past/future indefinite

dH FIT SAd 812

T JH SAd 812

A Fel TEd @

T FAT Ted &7

T e ToIGaTr 3Tl 82

FAT g2t & ¥ 9fRaH gA §?

FAT N AT GG & 2

T JFeNT HEA g SR Xl 872

FAT IH AT T 817

AR H A &1 T g7

IH @1 @rd g

FAT TE el AT T 82

FAT g e diear &7

FIT JFE SIS AT T 872

e fre F9elt 7 F w8

T JH YT HEHT 9197 1 Jal FId 812
T T T HFAT 9197 W 872
T JH VT T ST 812

&1 STl # A fAsermr &1 e R g
1 Reteh Jg =S @ gerr g2

A FT g1 AT ATl g1?

JH el RRA FT A 82

FAT JH 3T AT HT S AT 812
IH 39T BT IAAR AT P&l h HeATd g2
JH T AT 99 AAS 82

T JH 39T oAl HAT &2

T A Taar a1 RfSErET gaa sid g




7 Fa% WY g HE A a7

T FIST & IR B Jdl Tkl STl g2
dH e Holreh & 81?

dF¢ Pl SIIET IR HIAT § FFAT I a7
FAT A 39T HUST g WH HIA &7
TR W H TEAT Flef FA1T § 2

e &1 JH FR gl & d16 el Fd 812
T VT JH FR A Fe T 812

qFER 9T &gl A A g2

JFERY AFHT AT HHA HICA 82

T JH SeAd 81 2




